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Chapter 7 Review Sheet


1.  Solve each proportion: 
a) 


 				b)   			c)   




2.  An architect’s model for a building is 2.7 m long and 1.1 m wide. The actual building is 360 m wide. What is the length of the building?





3. Determine whether the two polygons are similar. If so, write the similarity ratio and a similarity statement.
a) ABC and XYZ					b)  [image: ]MNOP and [image: ]RSTU
[image: ]

4. Leonardo da Vinci’s famous portrait of the Mona Lisa is 30 in. tall and 21 in. wide. Jonathon has a postage stamp of the Mona Lisa that is similar to the original painting. The height of the postage stamp is 4 cm. What is the width?











5.  Two similar rectangles have corresponding sides measuring 5 cm and 22 cm. Determine the ratio of their respective areas.


6.  The area of a regular pentagon is 48 square inches.  What is the area of a regular pentagon with sides 4 times as long.



7. A right triangle has a base of 6 meters and a height of 4 meters. If both the base and the height are multiplied by 2, what is the new area?



8.  The length of a side of a square patio is 12 feet. If the length of each side is multiplied by a factor of 6, what is the new perimeter? 




9.  (
24
 in
) The isosceles triangle below has a base of 22 in. and legs of 23 in. each.  
If each side of the isosceles triangle is doubled, how is its area affected? 



 		 
10. Given that DEFG ~ WXYZ, find each of the perimeter of WXYZ and the area of WXYZ.
[image: ]






11.  Determine if the following triangles similar.  If so, by which property (AA, SAS, SSS)?
[image: ]

12. Graph the image of the triangle after a dilation with a scale factor of .  
[image: ]







[image: ]
13. 




	Statement
	Reason

	
1.   
	1. 

	2.   <ADB is right
	2. def. of perpendicular lines

	3.   m <ADB = 90°
	3.

	4.   m <ABC = 90°
	4.  def. of right angle

	5.   m <ADB = m <ABC
	5.

	6.   m <A = m <A
	6.



	
7.    
	7.




[image: ]
14. A tree stops a surveyor from directly measuring the length of a lot line. What is EF?








16. [image: ]Find the length of RU.







[image: ]
15. Find the length of MV.





17.  Find the length of FG and GH.
[image: ]









18. [image: ]  The plan for an office uses the scale of 1 square:12 ft. 
Find the actual length of the following walls.

a) AB

b) BC

c) CD

d) EF


19. [image: ] A 5 ft 9 in. man cast a 6 ft 6 in. shadow. At the same time of day, a tree casts a 50 ft shadow. What is the height of the tree?







20. An artist makes a scale drawing of a new lion enclosure at the zoo. The scale is 1 in : 25 ft. On the drawing, the length of the enclosure is  inches. What is the actual length of the lion enclosure?
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a) AJLKand AJMN b} APQRand AUTS c) ADGCand AEFC
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Given: right AABC; BD 1L AC
Prove: AABC ~ AADB
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AABC ~ AADB
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